
N

i

v

.

:

 

1

3

0

-

E

O

s

a

:

 

1

3

0

-

E

K

m

=

 

0

,

0

0

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

7

.

8

3

9

s

 

=

-

2

.

5

0

0

%

l

 

=

3

.

5

0

0

m

N

i

v

.

:

 

1

3

0

-

E

O

s

a

:

 

1

3

0

-

E

K

m

=

 

0

,

0

0

3

.

5

0

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

7

.

7

5

2

s

 

=

-

2

.

5

0

0

%

l

 

=

3

.

5

0

0

m

s

 

=

-

7

.

3

0

0

%

l

 

=

2

6

.

8

1

3

m

N

i
v

.

:

 

1

3

0

-

E

O

s

a

:

 

1

3

0

-

E

K

m

=

 

0

,

0

3

0

.

3

1

3

H

 

=

 

2

2

0
t

 

=

 

8

.

5

8

0

f

 

=

 

0

.

1

6

7

V

B

 

 

4

0

5

.

7

9

5

s

 

=

-

7

.

3

0

0

%

l
 

=

2

6

.

8

1

3

m

s

 

=

0

.

5

0

0

%

l
 

=

4

5

.

2

1

8

m

N

i

v

.

:

 

1

3

0

-

F

O

s

a

:

 

1

3

0

-

F

K

m

=

 

0

,

0

0

0

H

 

=

 

0 t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

6

.

1

1

0

s

 

=

-

0

.

4

0

0

%

l

 

=

5

6

.

0

5

5

m

N

i

v

.

:

 

1

3

0

-

F

O

s

a

:

 

1

3

0

-

F

K

m

=

 

0

,

0

5

6

.

0

5

5

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

5

.

8

8

6

s

 

=

-

0

.

4

0

0

%

l

 

=

5

6

.

0

5

5

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

0

0

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

4

.

9

7

8

s

 

=

2

.

0

0

0

%

l

 

=

3

9

.

8

8

2

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

0

3

9

.

8

8

2

H

 

=

 

-

3

0

0

t

 

=

 

5

.

1

0

0

f

 

=

 

-

0

.

0

4

3

V

B

 

 

4

0

5

.

7

7

6

s

 

=

2

.

0

0

0

%

l

 

=

3

9

.

8

8

2

m

s

 

=

-

1

.

4

0

0

%

l

 

=

2

0

.

0

3

7

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

0

5

9

.

9

1

9

H

 

=

 

4

0

0

t

 

=

 

3

.

8

0

0

f

 

=

 

0

.

0

1

8

V

B

 

 

4

0

5

.

4

9

5

s

 

=

-

1

.

4

0

0

%

l

 

=

2

0

.

0

3

7

m

s

 

=

0

.

5

0

0

%

l

 

=

4

7

.

2

3

9

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

1

5

5

.

6

0

8

H

 

=

 

2

0

0

t

 

=

 

5

.

0

5

0

f

 

=

 

0

.

0

6

4

V

B

 

 

4

0

6

.

1

9

2

s

 

=

0

.

9

5

0

%

l

 

=

4

8

.

4

5

0

m

s

 

=

6

.

0

0

0

%

l

 

=

2

3

.

2

9

3

m

N

i
v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

1

7

8

.

9

0

1

H

 

=

 

-

1

5

0

t

 

=

 

6

.

2

2

5

f

 

=

 

-

0

.

1

2

9

V

B

 

 

4

0

7

.

5

8

9

s

 

=

6

.

0

0

0

%

l
 

=

2

3

.

2

9

3

m

s

 

=

-

2

.

3

0

0

%

l
 

=

6

.

7

0

2

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

0

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

5

.

6

3

3

s

 

=

-

2

.

0

0

0

%

l

 

=

5

.

9

1

1

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

4

1

.

3

7

5

H

 

=

 

5

0

0

t

 

=

 

3

.

0

0

0

f

 

=

 

0

.

0

0

9

V

B

 

 

4

0

4

.

3

0

9

s

 

=

-

3

.

4

0

0

%

l

 

=

3

5

.

4

6

4

m

s

 

=

-

2

.

0

0

0

%

l

 

=

1

0

.

1

8

5

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

5

1

.

5

6

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

4

.

1

0

5

s

 

=

-

2

.

0

0

0

%

l

 

=

1

0

.

1

8

5

m

s

 

=

-

1

0

.

0

0

0

%

l

 

=

2

.

1

5

0

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

5

3

.

7

3

6

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

3

.

8

5

1

s
 
=

-
1
4
5
.
2
8
3
%

l
 
=

0
.
0
2
7
m

s

 

=

2

.

5

0

0

%

l

 

=

3

.

5

0

0

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

5

7

.

2

3

6

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

3

.

9

3

9

s

 

=

2

.

5

0

0

%

l

 

=

3

.

5

0

0

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

0

5

.

9

1

1

H

 

=

 

-

5

0

0

t

 

=

 

3

.

5

0

0

f

 

=

 

-

0

.

0

1

2

V

B

 

 

4

0

5

.

5

1

4

s

 

=

3

,

4

0

0

%

l

 

=

3

5

.

4

6

4

m

s

 

=

-

2

.

0

0

0

%

l

 

=

5

.

9

1

1

m

N

i

v

.

:

 

1

3

0

-

E

O

s

a

:

 

1

3

0

-

E

K

m

=

 

0

,

0

7

5

.

5

3

1

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

6

.

0

2

1

s

 

=

0

.

5

0

0

%

l

 

=

4

5

.

2

1

8

m

2

.

0

 

%

6
.
0
 
%

2
.
0
 
%

2

.

0

 

%

2

.

0

 

%

2

.
0

 
%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.
0

 
%

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

0

,

0

0

0

P

Ř

Í

M

Á

0

,

0

0

1

.

6

1

9

R

=

3

0

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

0

,

0

7

5

.

5

3

1

P

Ř

Í

M

Á

P

Ř

Í

M

Á

1

3

0

-

C

0

,

0

0

0

0

,

0

2

3

.

2

0

4

R

=

1

0

0

0

,

0

3

8

.

3

0

0

R

=

1

0

0

0

,

1

2

3

.

2

2

1

R

=

4

1

3

0

-

C

0

,

0

0

0

0

,

0

2

3

.

2

0

4

R

=

1

0

0

0

,

0

3

8

.

3

0

0

R

=

1

0

0

0

,

1

2

3

.

2

2

1

R

=

4

1

3

0

-

C

0

,

0

0

0

0

,

0

2

3

.

2

0

4

R

=

1

0

0

0

,

0

3

8

.

3

0

0

R

=

1

0

0

0

,

1

2

3

.

2

2

1

R

=

4

0

,

1

2

9

.

5

0

4

R

=

4

1

3

0

-

E

0

,

0

0

0

0

,

0

2

5

.

6

7

5

R

=

-

6

0

,

0

3

5

.

0

8

4

R

=

-

6

1

3

0

-

F

0

,

0

1

8

.

4

5

8

R

=

3

0

0

,

0

5

6

.

0

5

5

1

3

0

-

A

0

,

0

0

0

0

,

0

1

4

.

5

0

1

R

=

1

4

5

0

,

0

6

6

.

0

5

1

R

=

1

4

5

0

,

1

5

4

.

4

0

1

R

=

5

6

.

5

0

0

0

,
1

6

6

.
9

3

6

R

=

5

6

.
5

0

0

R

=

-
1

2

3

.
5

0

0

0

,

1

8

5

.

6

0

4

R

=

-

1

2

3

.

5

0

0

1

3

0

-

B

0

,

0

0

0

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

5

7

,

2

3

6

5

P

Ř

Í

M

Á

s

 

=

0

.

5

0

0

%

l

 

=

4

7

.

2

3

9

m

s

 

=

0

.

9

5

0

%

l

 

=

4

8

.

4

5

0

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

1

0

7

.

1

5

8

H

 

=

 

1

2

0

0

0

t

 

=

 

2

7

.

0

0

0

f

 

=

 

0

.

0

3

0

V

B

 

 

4

0

5

.

7

3

1

N

i
v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

1

8

5

.

6

0

3

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

7

.

4

3

5

s

 

=

-

2

.

3

0

0

%

l
 

=

6

.

7

0

2

m

2

.

0

 

%

2
.
0
 
%

2
.
0
 
%

2

.

0

 

%

4

.
0

 
%

4

.

0

 

%

2

.

0

 

%

2
.
0
 
%

N

i

v

.

:

 

1

3

0

-

E

O

s

a

:

 

1

3

0

-

E

K

m

=

 

0

,

0

0

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

7

.

8

3

9

s

 

=

-

2

.

5

0

0

%

l

 

=

3

.

5

0

0

m

N

i

v

.

:

 

1

3

0

-

E

O

s

a

:

 

1

3

0

-

E

K

m

=

 

0

,

0

0

3

.

5

0

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

7

.

7

5

2

s

 

=

-

2

.

5

0

0

%

l

 

=

3

.

5

0

0

m

s

 

=

-

7

.

3

0

0

%

l

 

=

2

6

.

8

1

3

m

N

i
v

.

:

 

1

3

0

-

E

O

s

a

:

 

1

3

0

-

E

K

m

=

 

0

,

0

3

0

.

3

1

3

H

 

=

 

2

2

0
t

 

=

 

8

.

5

8

0

f

 

=

 

0

.

1

6

7

V

B

 

 

4

0

5

.

7

9

5

s

 

=

-

7

.

3

0

0

%

l
 

=

2

6

.

8

1

3

m

s

 

=

0

.

5

0

0

%

l
 

=

4

5

.

2

1

8

m

N

i

v

.

:

 

1

3

0

-

F

O

s

a

:

 

1

3

0

-

F

K

m

=

 

0

,

0

0

0

H

 

=

 

0 t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

6

.

1

1

0

s

 

=

-

0

.

4

0

0

%

l

 

=

5

6

.

0

5

5

m

N

i

v

.

:

 

1

3

0

-

F

O

s

a

:

 

1

3

0

-

F

K

m

=

 

0

,

0

5

6

.

0

5

5

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

5

.

8

8

6

s

 

=

-

0

.

4

0

0

%

l

 

=

5

6

.

0

5

5

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

0

0

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

4

.

9

7

8

s

 

=

2

.

0

0

0

%

l

 

=

3

9

.

8

8

2

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

0

3

9

.

8

8

2

H

 

=

 

-

3

0

0

t

 

=

 

5

.

1

0

0

f

 

=

 

-

0

.

0

4

3

V

B

 

 

4

0

5

.

7

7

6

s

 

=

2

.

0

0

0

%

l

 

=

3

9

.

8

8

2

m

s

 

=

-

1

.

4

0

0

%

l

 

=

2

0

.

0

3

7

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

0

5

9

.

9

1

9

H

 

=

 

4

0

0

t

 

=

 

3

.

8

0

0

f

 

=

 

0

.

0

1

8

V

B

 

 

4

0

5

.

4

9

5

s

 

=

-

1

.

4

0

0

%

l

 

=

2

0

.

0

3

7

m

s

 

=

0

.

5

0

0

%

l

 

=

4

7

.

2

3

9

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

1

5

5

.

6

0

8

H

 

=

 

2

0

0

t

 

=

 

5

.

0

5

0

f

 

=

 

0

.

0

6

4

V

B

 

 

4

0

6

.

1

9

2

s

 

=

0

.

9

5

0

%

l

 

=

4

8

.

4

5

0

m

s

 

=

6

.

0

0

0

%

l

 

=

2

3

.

2

9

3

m

N

i
v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

1

7

8

.

9

0

1

H

 

=

 

-

1

5

0

t

 

=

 

6

.

2

2

5

f

 

=

 

-

0

.

1

2

9

V

B

 

 

4

0

7

.

5

8

9

s

 

=

6

.

0

0

0

%

l
 

=

2

3

.

2

9

3

m

s

 

=

-

2

.

3

0

0

%

l
 

=

6

.

7

0

2

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

0

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

5

.

6

3

3

s

 

=

-

2

.

0

0

0

%

l

 

=

5

.

9

1

1

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

4

1

.

3

7

5

H

 

=

 

5

0

0

t

 

=

 

3

.

0

0

0

f

 

=

 

0

.

0

0

9

V

B

 

 

4

0

4

.

3

0

9

s

 

=

-

3

.

4

0

0

%

l

 

=

3

5

.

4

6

4

m

s

 

=

-

2

.

0

0

0

%

l

 

=

1

0

.

1

8

5

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

5

1

.

5

6

0

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

4

.

1

0

5

s

 

=

-

2

.

0

0

0

%

l

 

=

1

0

.

1

8

5

m

s

 

=

-

1

0

.

0

0

0

%

l

 

=

2

.

1

5

0

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

5

3

.

7

3

6

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

3

.

8

5

1

s
 
=

-
1
4
5
.
2
8
3
%

l
 
=

0
.
0
2
7
m

s

 

=

2

.

5

0

0

%

l

 

=

3

.

5

0

0

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

5

7

.

2

3

6

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

3

.

9

3

9

s

 

=

2

.

5

0

0

%

l

 

=

3

.

5

0

0

m

N

i

v

.

:

 

1

3

0

-

B

O

s

a

:

 

1

3

0

-

B

K

m

=

 

0

,

0

0

5

.

9

1

1

H

 

=

 

-

5

0

0

t

 

=

 

3

.

5

0

0

f

 

=

 

-

0

.

0

1

2

V

B

 

 

4

0

5

.

5

1

4

s

 

=

3

,

4

0

0

%

l

 

=

3

5

.

4

6

4

m

s

 

=

-

2

.

0

0

0

%

l

 

=

5

.

9

1

1

m

N

i

v

.

:

 

1

3

0

-

E

O

s

a

:

 

1

3

0

-

E

K

m

=

 

0

,

0

7

5

.

5

3

1

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

6

.

0

2

1

s

 

=

0

.

5

0

0

%

l

 

=

4

5

.

2

1

8

m

2

.

0

 

%

6
.
0
 
%

2
.
0
 
%

2

.

0

 

%

2

.

0

 

%

2

.
0

 
%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.

0

 

%

2

.
0

 
%

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

0

,

0

0

0

P

Ř

Í

M

Á

0

,

0

0

1

.

6

1

9

R

=

3

0

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

0

,

0

7

5

.

5

3

1

P

Ř

Í

M

Á

P

Ř

Í

M

Á

1

3

0

-

C

0

,

0

0

0

0

,

0

2

3

.

2

0

4

R

=

1

0

0

0

,

0

3

8

.

3

0

0

R

=

1

0

0

0

,

1

2

3

.

2

2

1

R

=

4

1

3

0

-

C

0

,

0

0

0

0

,

0

2

3

.

2

0

4

R

=

1

0

0

0

,

0

3

8

.

3

0

0

R

=

1

0

0

0

,

1

2

3

.

2

2

1

R

=

4

1

3

0

-

C

0

,

0

0

0

0

,

0

2

3

.

2

0

4

R

=

1

0

0

0

,

0

3

8

.

3

0

0

R

=

1

0

0

0

,

1

2

3

.

2

2

1

R

=

4

0

,

1

2

9

.

5

0

4

R

=

4

1

3

0

-

E

0

,

0

0

0

0

,

0

2

5

.

6

7

5

R

=

-

6

0

,

0

3

5

.

0

8

4

R

=

-

6

1

3

0

-

F

0

,

0

1

8

.

4

5

8

R

=

3

0

0

,

0

5

6

.

0

5

5

1

3

0

-

A

0

,

0

0

0

0

,

0

1

4

.

5

0

1

R

=

1

4

5

0

,

0

6

6

.

0

5

1

R

=

1

4

5

0

,

1

5

4

.

4

0

1

R

=

5

6

.

5

0

0

0

,
1

6

6

.
9

3

6

R

=

5

6

.
5

0

0

R

=

-
1

2

3

.
5

0

0

0

,

1

8

5

.

6

0

4

R

=

-

1

2

3

.

5

0

0

1

3

0

-

B

0

,

0

0

0

P

Ř

Í

M

Á

P

Ř

Í

M

Á

P

Ř

Í

M

Á

5

7

,

2

3

6

5

P

Ř

Í

M

Á

s

 

=

0

.

5

0

0

%

l

 

=

4

7

.

2

3

9

m

s

 

=

0

.

9

5

0

%

l

 

=

4

8

.

4

5

0

m

N

i

v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

1

0

7

.

1

5

8

H

 

=

 

1

2

0

0

0

t

 

=

 

2

7

.

0

0

0

f

 

=

 

0

.

0

3

0

V

B

 

 

4

0

5

.

7

3

1

N

i
v

.

:

 

1

3

0

-

A

O

s

a

:

 

1

3

0

-

A

K

m

=

 

0

,

1

8

5

.

6

0

3

H

 

=

 

0

t

 

=

 

0

.

0

0

0

f

 

=

 

0

V

B

 

 

4

0

7

.

4

3

5

s

 

=

-

2

.

3

0

0

%

l
 

=

6

.

7

0

2

m

2

.

0

 

%

2
.
0
 
%

2
.
0
 
%

2

.

0

 

%

4

.
0

 
%

4

.

0

 

%

2

.

0

 

%

2
.
0
 
%

U
V

2
0

0
7

VYTYČOVACÍ BODY ŘEZŮ:

OSA 130-A

A001   -852264,985   -1009339,429   405,18

A002   -852261,523   -1009335,821   405,08

A003   -852239,368   -1009369,996   405,63

A004   -852235,156   -1009367,348   405,53

A005   -852208,129   -1009432,646   405,86

A006   -852204,946   -1009433,068   405,79

A007   -852190,942   -1009468,717   406,46

A008   -852187,666   -1009467,516   406,39

A009   -852251,136   -1009353,865   405,58

A010   -852247,267   -1009350,713   405,40

A011   -852225,501   -1009396,578   405,60

A012   -852220,973   -1009394,387   405,50

A013   -852216,812   -1009414,584   405,71

A014   -852213,662   -1009413,060   405,14

A015   -852199,391   -1009450,592   406,04

A016   -852196,241   -1009449,067   405,90

OSA 130-B

B001   -852208,918   -1009396,455   405,21

B002   -852207,407   -1009399,612   405,28

B003   -852186,367   -1009385,664   404,36

B004   -852184,856   -1009388,821   404,43

B005   -852195,396   -1009389,990   404,69

B006   -852193,885   -1009393,147   404,76

OSA 130-C

C001   -852156,227   -1009479,047   406,61

C002   -852152,953   -1009484,075   406,49

C003   -852191,892   -1009497,023   407,55

C004   -852189,411   -1009502,486   407,43

C005   -852219,207   -1009509,428   408,19

C006   -852217,760   -1009512,614   408,23

C007   -852237,417   -1009517,697   408,70

C008   -852235,986   -1009520,849   408,63

C009   -852173,964   -1009488,885   407,19

C010   -852171,483   -1009494,348    406,99

OSA 130-E

E001   -852203,784   -1009518,897   406,91

E002   -852198,342   -1009516,369   406,79

E003   -852186,868   -1009529,441   405,84

E004   -852189,381   -1009523,992   405,96

E005   -852159,626   -1009516,876   405,99

E006   -852163,355   -1009508,791   406,17

E007   -852173,247   -1009523,158   405,92

E008   -852177,001   -1009515,019   406,06

OSA 130-F

F001   -852224,254   -1009546,683   405,95

F002   -852225,701   -1009543,496   406,02

F003   -852206,092   -1009538,307   406,03

F004   -852207,539   -1009535,120   406,10

OSA 130-F

F001   -852224,254   -1009546,683   405,95

F002   -852225,701   -1009543,496   406,02

F003   -852206,092   -1009538,307   406,03

F004   -852207,539   -1009535,120   406,10

ULIČNÍ VPUSTI

UV2001   -852155,382   -1009514,917

UV2002   -852174,167   -1009523,578

UV2003   -852189,534   -1009530,643

UV2004   -852212,681   -1009510,493

UV2005   -852221,843   -1009495,363

UV2006   -852232,460   -1009519,288

UV2007   -852240,737   -1009503,941

UV2008   -852195,658   -1009483,483

UV2009   -852170,342   -1009493,820

UV2010   -852147,682   -1009480,924

UV2011   -852195,785   -1009450,011

UV2012   -852208,559   -1009423,621

UV2013   -852205,383   -1009394,766

UV2014   -852180,188   -1009382,491
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